H & 0l & AHS B Ml A

A nSHEL
M DS OF U DSIN =Y
el HsnsSedst (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
wSHF 28,727,963 25,366,047 3,371,916
= 189,900
[ 638,388
= 773,767
Al 27,125,908
wsS M 2 WSEA E 28,422,271 25,056,633 3,365,638
= 189,900
[ 638,388
= 773,767
Al 26,820,216
HEnsedst 24,459,688 21,447,671 3,012,017
= 189,900
= 638,388
= 731,167
Al 22,900,233
SgA 3EHe Xd 11,576,579 9,797,916 1,778,663
201 fer= 3| 874,360 871,700 2,660
01 At 2|l 874,360 871,700 2,660
0 &Bt~Sd| 853,720
OMELS=2 25 822 MH
17,000,000 * 14 17,000
O H=SEHAl 012t MA
1002 *900A!I CH 40K = 122 4,320
O ZHE2FSAK 2 M
100,000 6 *43] 2,400
O A0 B&E eigdZ ) E2H|
830,000,000 * 14 830,000
O iz 3,600
O HIHAl Ze|AAE AHEZ
300,000& * 128 3,600
0 2g=< 11,760
O 2+3AH} 282203 & ABWS
ZAIZ 7,000,000 *14] 7,000
O WS OlsH2 SN AR B4+E
70,0002 x8H*23] 1,120
O 2N SSuUSLH A3 S4+E
70,0002 192 *22] 2,660
O NEESHA NEHA 223 4=
70,0002 7 H 23] 980
O Sgl 5,280
O tsus 28 H2FA
8,000 +6& x110! 5,280
202 04| 11,260 11,260
01 2LHoIH 11,260 11,260
O Sgs NSk RtExs 28 &Kl &0l
20,0003 x3% » 13 780




A NSHAFE
M DS OF U DSIN =Y
Hel: Hsunsasdst (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
O Hsus2e AR =8 282
80,000& x5Z+72 2,800
O 2+gMd XN=. 83
20,0003 4 & +62] 480
0 0l Q SSNSK SSAY S= 2=
&l 20,0002 4 *21 1,680
0 g8 AsA AOX &#X &el
20, 0002123 <242 960
0 RE#™AS =7
20,0003 62 382 4,560
207 AR 528,354 282,000 246,354
01 S| 90,000 282,000 192,000
O SXes DEY TN 89
22,000,000 12 22,000
O AUHA NS A ES
20,000,000& x14! 20,000
I AILHHA S| HIZ AL 18,000,000& * 14! 18,000
O HERE SABAR ABE TA 89
30,000,000& *14] 30,000
02 HADHEH] 438,3%4 0 438,354
[ 22017 S48 1E0E 28
A = 438,354,000& 14! 438,354
301 2N = 120,360 143,360 /23,000
11 EAAHIXIRES 3,360 3,360 0
O wSEA L AFDE01D] AL 48X 24
NI 8,000 702 *62] 3,360
14 J|Et2 a3 117,000 140,000 A23,000
O EAIDIAF SETE XIS
1,000,000 *14] 1,000
O SASSE HAIKE
46,000,000 *14] 46,000
O fIlEANEBEE2S 2HIIM 225 X
& 70,000,000 %14 70,000
307 212t01™ 10,035,220 8,482,700 1,552,520
02 QI AN E X 9,500 7,500 2,000
O (A=M00LIS 2FHAIHES &5 X
2,500,000 *14] 2,500
O 223 Mg =38l g5 X
=l 7,000,000 * 14 7,000
09 2+HHEES 10,025,720 8,475,200 1,550,520
0O wS3tE OI2k 23 22 &8Nz
170,000,000& *42 1 680,000
O Al A gts g0 2X3
341,250,000& 42| 1,365,000
O MAHA &0 EX5
180,000,000& #4271 720,000




A nSHEL
B DE oM U DEXA =
2o susgdst (SH9 H2)
2 - HE - E9I(E) - AIRAY - of v G o HIDE2
O sHEHA Bl d 2424s
5,900, 000,000 * 14 5,900,000
O AL A 28T 25 2E £X]
102,700,000 * 14! 102,700
O SAS38E A K&
140,000,000 * 14! 140,000
[ @APDIE 442 N
40,0002 #2 . 293652 *500CH 160,600
0 ZHEHEE 8A 28] X2
1,000& 35,0004« 12& 420,000
O AUHA HAX] X2 THHLHE 22 =
Xl 30,000,000 *14{ 30,000
O HAEDIE 22l X3
300,000 * 122 3,600
O ZEHA(F) AIHHAEIE AIZ2 X2
23,000,000 «12& 276,000
O ALK cotv & LED A2 WA
227,820,000 x14] 227,820
308 XXM SOIA 7,025 6.8% 129
1 SIS0t oA AS A 7,025 6,8% 129
[ SHASHEBR2IAALY 2
7,025,000 *14] 7,025
SAEXE 2XAE 1,414,626 1,931,370 A516,744
[ 424,388
= 110,261
Al 879,977
307 el2to| & 1,414,626 1,931,370 N\516,744
= 424,388
& 110,261
Al 879,977
09 2+AE2LS 1,414,626 1,931,370 A\516,744
O HAEXE EXAHY
1,414,626,000& » 14 1,414,626
= 424,388
< 110,261
Al 879,977
AMURHSHEHATHE & Z2EXE 698,730 713,688 14,958
= 349,365
Al 349,365
307 gl2to| & 698,730 713,688 A 14,958
=S 349,365
Al 349,365
09 2FSHEXS 698,730 713,688 14,958
O AUSHEHANE & 2&X
698,730,000& x14] 698,730
< 349,365
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Al
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152,395
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152,395
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clEx122
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279,810
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al
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=Al2tcll
3,000,000 *34!

Xl2teltl
11,0002 »78CH* 122

al _,Qr
{SAIAE(EHOIX) SX2

110,000, 0002 * 141 % 10%

|AE(BIS) sAI22l]
220,925,000 *141%12%

185,883,000 *141%12%

LKD)
662,074,000 * 141 %8%
176,145,000 * 141 %8%
40,897,000 »14!%8%

46,482,000 * 141 %12%
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AIE

HEHI(ER

[1)al

MEEH
HIERIEH

SOHE| (Y5
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10,

2%
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52,966
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2,440
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240
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80,000

8 Y (AMbig)
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207 AR
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A nSHEL
M WS N 2 WSEAN E
=R Hsnsedst (cte: ™
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O HAZSAIAR 2 D|(BIT) &X
16,000,000 *57H 2~ 80,000
MatHA 2SN 135,000 135,000 0
= 40,500
Al 94,500
307 @12t0| & 135,000 135,000 0
== 40,500
Al 94,500
09 2 AHEXS 135,000 135,000 0
O HAHA SN
135,000,000 * 14| 135,000
= 40,500
Al 94,500
SAIZA 2AXEH 572,000 0 572,000
= 50,700
S 35,490
Al 485,810
301 EtE NS 572,000 0 572,000
= 50,700
[ 35,490
Al 485,810
14 JIEt2d= 572,000 0 572,000
O SAZA2a=2 44,000,000 * 13CH 572,000
= 50,700
== 35,490
Al 485,810
CASSE SAIXE 274,000 274,000 0
s 54,000
Al 220,000
301 EtE NS 274,000 274,000 0
= 54,000
Al 220,000
14 DBt 2 a3 274,000 274,000 0
O SSE8A A& 274,000,000 x 14 274,000
[ 54,000
Al 220,000
CAESSE HAXE 629,000 430,000 199,000
= 160,000
Al 469,000
307 elztol & 629,000 430,000 199,000
s 160,000
Al 469,000
09 2+ AELES 629,000 430,000 199,000




A nSBEI
B WS X U DETA =
@ UEsnsSeydst (E+9l:
SA - ZE . BR() - HRAR - BES of v G o HIDE2
RENEEEESE
629,000,000 x 14 629,000
= 160,000
Al 469,000
VEN2NHEE KL QIHIEZ(F2IF0) 30,000 30,000 0
== 9,000
Al 21,000
301 22N 30,000 30,000 0
[ 9,000
Al 21,000
14 JIEt2d=3 30,000 30,000
O 08283 A&ty QIHIEIE
30,000,000& » 14 30,000
= 9,000
Al 21,000
LS WSIH=AH OrelXl K& 13,200 7,200 6,000
= 6,600
Al 6,600
308 AHXIHMSO0IA 13,200 7,200 6,000
= 6,600
Al 6,600
11 SIS0t 4 A A A 13,200 7,200 6,000
O 2HYSWEIICON 0iL2IX N
13,200,000& » 14 13,200
= 6,600
Al 6.600
OAXISIEOE SZ e 8,380 27,000 /18,620
=S 2,500
Al 5,880
307 21201 & 8,380 27,000 18,620
< 2,500
Al 5,880
QO 2= HEXS 8,380 27,000 218,620
[ GIHRETEDE B2
8,380,000 +14] 8,380
= 2,500
Al 5,880
DEN2EES Hxge IHIEIE (XHA) 36,000 60,000 /24,000
301 EtE2 NS 36,000 60,000 A24,000
4Bt 2as 36,000 60,000 24,000
O D8N28HS AHalety IMEE
120,000& *300 36,000
Sgnsasg 2 (X)) 627,462 562,400 65,062
301 2eEN=S 50,000 0 50,000
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A nSHEL
B WS X U DETA =
el HsnsSedst (&9 A
SA - ZE . BR() - HRAR - BES of v G o HIDE2
14 IIEt2 8= 50,000 0 50,000
O DSSX OIS HIRHUAl 29
50,000,000& » 14 50,000
307 gl2to| & 573,462 562,400 11,062
05 212+ = 573,462 562,400 11,062
[ AHAIDEAX0I ST AHE (SRS
&) 24 573,462,000 x14] 573,462
405 KHaHE SH 4,000 4,000
01 AL =S F=H| 4,000 4,000
O MEAT OISKH HISHEHAI X2 &)
¢ 800,000 ~5CH 4,000
Sgussg 2H|(EX) 53,400 0 53,400
= 53,400
307 elztol & 53,400 0 53,400
= 53,400
05 212+ =S 53,400 0 53,400
[ Sgnsas 29y)
5,340,000 * 10CH 53,400
= 53,400
AMUSHEHA HHIX X1 420,000 0 420,000
=S 75,360
Al 344,640
307 @I2t01 & 420,000 0 420,000
< 75,360
Al 344,640
QO 2= HEXS 420,000 0 420,000
O AMUsHEHA HEIX X2
420,000,000 * 14 420,000
= 75,360
Al 344,640
Sgussd 2 144,000 144,000
= 72,000
= 21,600
Al 50,400
405 Abats 144,000 0 144,000
= 72,000
< 21,600
Al 50,400
01 =Rl 144,000 0 144,000
0 SgusSst 28N
48,000,000 *3CH 144,000
= 72,000
[ 21,600
Al 50,400




A nSHEL
B DE oM U DEXA =
Hel: Hsunsasdst (ct9: &
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEHE ZEA| AIIXIR(EX) 213,939 0 213,939
= 80,227
Al 133,712
307 el2to| & 213,939 0 213,939
= 80,227
Al 133,712
0 2=EHEXS 213,939 0 213,939
0 EH=ZSHAIMNS XS
213,939,000 *14] 213,939
== 80,227
Al 133,712
HAHAXZ0I12E DEXIE XX 22,880 0 22,880
= 6,864
Al 16,016
307 elztol & 22,880 0 22,880
= 6,864
Al 16,016
QB 2=gHEXS 22,880 0 22,880
O dMHAXZ0IEE DE XL
22,880,000 * 14! 22,880
== 6,864
Al 16,016
DEN2HHS A2 E oA 24,000 0 24,000
= 7,200
Al 16,800
301 EtE NS 24,000 0 24,000
= 7,200
Al 16,800
14 DBt 2 a3 24,000 0 24,000
O 08k 2836 A&ee QIdIEIE
24,000,000 *14! 24,000
= 7,200
Al 16,800
wSAIE=E A 3,897,047 3,539,726 367,321
S 42,600
Al 3,854,447
wWSAESEH ¥ 7AE* 3,755,047 3,399,726 365,321
201 er23| 363,460 289,600 73,860
01 At2teltl 16,160 16,160
0 get+=EH 15,500
O usetd g2= &
2,0002 *55+1,330H 13,300
O WSZA=E 82 2 ME
110,000& #5IH*42] 2,200




2A: nSHEW
B DE OF U DEIA =
Selr usSAE=E e (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
O &A= g0d0l=
660,000 =14 660
02 SE=29| 347,300 273,440 73,860
O 3322 % JA 347,300
O usdlss &z
14,000,000& x12& 168,000
O CP|st==Edl 4ol gldAER=
30,0002 =650+ 12& 23,400
O CIsE==Edl EI1Z A
2,300,000 *63CH 144,900
O FA2teEFY EI1H A
5,500,000 »2CH 11,000
207 AR H| 100,000 90,000 10,000
01 g2 =] 100,000 90,000 10,000
O nESds Hsst AlY &Y
100,000,000 *14] 100,000
401 A& B 20HY| 3,291,587 3,020,126 271,461
01 Al&HI 3,283,400 3,009,400 274,000
[ HASZE 4% o 7
10,000,000 *207H 2~ 200,000
O nsSHAAIL 44X L F|
400,000,000 =14 400,000
0O BsSaAS)| EXBAHEFEF L Je
SJ| dld) 198,000,000 * 14 198,000
] ZES &XSAt 5,000,000 1074 2~ 50,000
O WSA&S MOl Wi ¥ xt2et SAF
71,400,000 * 14 71,400
O MHETHE M (A2E5H)
7,500,000 *80km 600,000
O AN (=2H)
2,000,000& *100km 200,000
[ &8s Z32S(Ec) Ad3A
20,000,000 14! 20,000
O nsSEXE 44X 144,000,000 * 14 144,000
[ S&3)| RANES
200,000& * 17070 2~ 34,000
[J WSotMAlL Ao JtZAH E|
180,000,000 * 14 180,000
O BsSas)| RAE4
11,000,000& x 123 132,000
[ WSoHtNAIEd=E RAES
8,000,000& =128 96,000
O Z=gA EX8 FY|
400,000 *100JH 2~ 40,000
O =% LSS wXl
800, 0002 *60JH 2 48,000
O &3D], 288 &) HNEH & 2
40,000,000 *14] 40,000




A nSHEL
M DS ON Y DSIN =Y
Cel: NSAIES A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O Chls Rogs bl &5
40,000,000 *3CH 120,000
O oIS4 folcts &H £X
10,000,000 *59H 2 50,000
O d2Ns=71E x| EX
500,000 *60JH 2 30,000
O NSASS 012 e At (SEF &X1)
4,000,000 *309H 2 120,000
O usSess £X 80,000,000 *3JH £ 240,000
0J LED =EA HEAIE &4
50,000,000 *14! 50,000
O eduiz sdxzd 23
100,000,000 14 100,000
) ADE HANFE SX|
60,000,000 *20H 2 120,000
03 AlESTHYI 8,187 10,726 A2,539
O usSAld= ZHl 8,187,000 * 14 8,187
WSHMAEES 142,000 140,000 2,000
S 42,600
Al 99,400
401 Al HIZL 201 142,000 140,000 2,000
= 42,600
Al 99,400
01 Al&H| 142,000 140,000 2,000
O WSHNAEES 142,000,000 *14] 142,000
= 42,600
Al 99,400
IHMSHe QY =X 65,536 69,236 A3,700
ASA S0 A 65,536 69,236 A3,700
201 2= 46,036 46,036 0
01 AtR2t2lt] 13,180 13,150 0
0 get+=EH] 8,750
O ANSIHEAF AE, F1F, 8 SN =
110,000 x35+32 A 990
O Atsit2teld g DKM =l
110,000 x4 S+48t A 1,760
O NSNS2Z L AFAA K0
10021%5,0000H*55 2,500
O #HEMRID 2RE 7
350,000 *3CH+32] 3,180
O HIMNRES 7 70,0002 52 350
U =&t 4,400
O USESE gfFA
8,000 5 »110! 4,400
2 s5=34l 32,886 32,886 0
0 2322 2 HAl 30,126




A nSHEL
B DS oM U DEXA =
e ASH EYE =M (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O NERBA AT SB=
4302 %20,00024 8,600
O Asxt2eld fedtis AN fES
2,530 4,000 10,120
O ANSIHBAF o, SAEE N 23
= 2,530 *4,0004 10,120
O ZASH 2Xgs 242
65,0003 * 122 780
O Xgad elE R8s
2,530 2001 506
O Al &HIs Xl 2,760
O ZAIRHHAIAE KXI2eld]
230,000& * 122 2,760
202 04t 5,200 5,200
01 =LHOHI 5,200 5,200
0 MHEx S=2 992%7
80,0002 x4 x113] 3,520
O HEXE HsE X JRFE
80,0002 x2H +73] 1,120
[ BSEAHE ¢4 U D2 X ol
20,0003 x4 7 560
206 MH=H| 14,300 12,500 1,800
01 M=4l 14,300 12,500 1,800
O oIENsSK s & 7Y
13,0002 %1, 1000H 14,300
HY2EIH(nSHF ) 305,692 299,414 6,278
el 2| 282,732 276,454 6.278
QI 2H(RSHED) 282,732 276,454 6,278
101 @124H| 274,444 268,610 5,834
01 &2 155,245 152,763 2,482
O =22+ 155,245
O AteI22+¢
12,3212 =21 +50A 2+ 123 185,245
02 JlErE B4 22,178 21,824 354
0 212949 22,178
O ANZelaesy
12,3213 +3E+50A[ 2+ 123 22,178
03 SR (RIH )22+ 97,021 94,023 2,998
O SRA(RIAL) 224 2+ 97,021
O JlZs 1,998,360 x2E « 12 47,961
O ZHgAHI 130,000 =2 * 122 3,120
O HR2xH| 30,0008 x2& * 12 720
O Jlgdd= 2,158,360 x2H 42 17,267
O gZd0= 1,205,0102 x2E 22| 5,181
O z2R=E
15,4903 x2& *20A1 2t 122 7,436
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